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2%l 4 Addition bis 100 (horizontal)

Name: Datum: Ergebnis:
30+ 74 = 90 +75 =
92 +15 = 6+94=
67+ 65 = 93 + 51 =
38 +44 = 81 +69 =
89+ 17 = 9+ 66 =
17+42 = 62 + 60 =
9+5] = 77+ 24 =
72+ 61 = 04 + 16 =
49 + 62 = 82 +42 =
60 + 10 = 3+1=
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Addition bis 100 (horizontal)

Name:

30+74 =104

92 +15 =107

67+65=132

38 +44 = &2

89+ 17 =106

17+42 =159

9+51 =60

72+ 61 =133

49+ 62 =111

60+ 10="70

Datum:

90 +75 = 165

6+94 =100

93 +351 =144

81 +69 = 150

9+66="175

62 +60 = 122

77 +24 =101

94 +16=110

82+42 =124

3+1=4
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Ergebnis:
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